	No.
	Question

	0
	Out of three classes of twenty eight pupils, fifty six pupils took the higher science paper. What percentage took this paper? Give your answer correct to one decimal place.


	1
	A teacher completed an 18 kilometre sponsored walk for charity. All thirty pupils in the class sponsored the teacher 5p per kilometre. How much did the teacher raise for charity?


	2
	In a test a pupil scored 18 marks out of 25. What was the pupil’s score as a percentage?


	3
	A teacher drove the school minibus eighty one miles on a school trip. The minibus averaged 5.4 miles per litre. How many litres of petrol did the teacher use on the trip?


	4
	On a school exchange to Belgium, a group of pupils travelled 85 miles. Using the conversion of 5 miles being equal to 8 kilometres, how many kilometres did they travel?


	5
	Results showed that in Class A, 79% of boys achieved Level 4 and above. In Class B, 15 out of 20 boys achieved this standard. What was the difference between the 2 classes in the percentage of boys achieving Level 4 and above?


	6
	For a school play, 120 tickets were sold at £1.50 each and a further 100 child tickets were sold at 75 pence each. What was the total amount of money raised from ticket sales?


	7
	As part of a 2 1/2 hour literature workshop, pupils watched a film lasting 1 hour and 42 minutes. How many minutes of the workshop remained?


	8
	One hundred and thirty pupils paid one pound fifty pence to attend their school disco. The refreshments cost sixty five pounds and the disco D.J. charged one hundred and ten pounds. How much profit did the disco make?


	9
	What is 6.03 multiplied by 100?


	10
	A test had 50 questions worth 1 mark each. The pass mark was 60%. How many questions had to be answered correctly to pass the test?


	11
	In a class of 28 pupils, 3/7 were boys. How many boys were there in the class?


	12
	A teacher started an activity which lasted 1 1/4 hours at 13:35. What time did the activity finish? Give your answer using the 24 hour clock.
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